

























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































2) AT - ¥T /M D<xl T A=T,

¥ =T,
b T= D= DIL

\ d' =1 K s
=) /E:— AN +J)

T =T=b b="T,
Tg(L):o\L-F_T‘ :7;_ 24 = ﬂ

— L
:>Em= -T) « +T,/
L

l) T(x, 0) = T. . -
Lek %(1,1732 T(\,(’)"ﬁ (1») = TA,IA‘-‘T*'TJ«)

Sa ?I;:bw_s) Bj;ﬁ{ﬁ {—J 4
)t Yt ot e X

m AT
= Yy —
> g‘mﬁ T/o}é\:T,——l/O,f) + T )

= Tht) +T,
















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































X()=D = B
)((1_): = { ¢ 51-
S |& L = nlt “3(/2/3/
3 /
Lt
2 ¢ = ’_‘_E_lg
= — _aadeyt
SDX:A SQ%/T:A =
— IMD{:'/LL

:) 'T_()L}{'): z Wg\n e ’TL} <

n=1

As t-ebﬂ/ :I-:-—%O > T%T\‘S ()() -

_ - J ))L g(ﬂ AL J)L
n L

) (T—T) -

— _ L A TD
= 2(1-”[ h“ (2§ nT{ "“__.. Inﬂ 7/ :j

Ly cosnmn Jcos ATty AL
T

)








































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































¥ . bt/
(1) +2(1}—T.\Z CINPARS I
—_ N 1

T n=|

—

g T
CDHSM








































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































ldf c=0 D X0 & X350 o (o> i}j‘i(()

-A::D

VLX' —ov")(.
ldf S = )(___g\eo Yy

L< )(_%‘a * 1—> o9 =)

Y 4 V=0

— )< — Be:-o C )/ s
> ) >
= >[ = Dsw c"\u,) + (o \\]

- £ =0
;//(g - Dsucel =0 3 &L = AT




































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































S P [l'h -(\"“\‘J e—‘ ( l"‘"n])(-/

/5 2 (20— t\"n

~n=|


















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































I P L Ve
P Nkl Y(06=Y1 =0

Q) Lt Y= Vi) sewt

__.//

> —Ww YSv.u‘t— c stf +\) !‘ln'*’l"

‘-D\ y:’\j

N : S
) \/:QSL«‘:‘_}: 4"1505—% J/w]’

Yo)= Byhe =0 2 B g
V(L) = ﬁrsi»w}o "’%1w§% ‘JA‘ -

>4 =J (- A
LJ’L S;—\ U)‘/o
5 Y= 9 (- w%)s;‘kﬂé +cagwé _,g
w‘\. SL,wL/c




















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































J> '@wa SU L u‘ch y()L/O) = ;% (u/a\ =0
Lt Y= >} + 3‘(1(/ £)

() ﬁ = (,zb__i\_ + j;_ué
.btl )%1. \j
)_L_’t = OL &‘ _r\] 5;(""‘
yEr N
Aok o | 89 = #2T |, IOV =0
[ YW ot

Ylo) = Y lyo) + Y G, 0)

s 0D = 0 ‘l’/\;’(J/D) =) [?(Y/O)zi/








































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































j T A’Sw t + 3(,,5,4&-
X« C.§~ L<—1— +:DCo5L7L

X(>) =D = D=0

X(l)«‘o =) o kt =0 > L= a’ic_ )’l-‘—l,l/l.,

= )l{’(‘ls Z{A 5“"““’-{’ E (s Mt M‘lck' Shriﬂf
A ) - g,‘;o
y()l/b) = 2_ ])n S‘A ——n£ "'D =)

Z A Su\ V\‘]‘Lé .Cb\ n%

= Y(Uc
3 _D_L . _
:))7 (\(0) = Z 'll An Sea AT = _“7(()(')
o T L
> n"l\c,'A = JIVY(\k,.mL AJL
(.

L
- QNJ P gy ,,Q,LZ






































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































